Supplement #5

19. Which of the following is the sam 4In2z7?
Simplify the following ezpressions. e Phe TotomiE B e ¢ asAms

) (a) In8z . (b) 8lnz

L In5+lnz 2. Inz® — Inz’ (¢) n8-+Inz (d) In16z*

3. 3In9 4. 3In; +1n16 20. Which of the following is the same as In(9z) — In(3z)?

5. In4+1In6—1In12 6. In2-Inz+1n3 (a) In6z (b) In(9z)/ In(3z)

7. e2'n= 8. 3Ind4—5 In2 (c) 6-In(x) (d) In3

i .

% B ln:.: =3 gt dine 21. Which of the following is the same as lln 8;2 ?
10, e'n= +3my 11. Inz — Inz? + In2* e
12. Linzy + 2o z (a) Indx (b) 4z

: 2y (c) In8z® —In2z (d) none of these
13. Which is larger, 2In5 or 31n37 22. Which of the following is the same as In 9z2?
14. Which is larger, 3 In16 or § In27? (a) 2-InYz (b) 3z-In3z
(c) 2'In3z (d) none of these

Solve the given eguationi for x.

23. nz—-nz?+n3=0 24 Iny/T—2In3=0

25. lnz? - 2lnz =1 26. lnz> —In2x+1=0
27. In/z = VInz 28. 3lnz —In3z =0
29. (Inz)*-1=0 30. 2(lnz)® +lnz—1=0

. In(z+1)-In(z—-2)=1
32. In[(x—3)(z+2)] ~In(z +2)*~In7=0
Differentiate.
33. y =In[(z +5)(2x — 1)(4 — z))
34. y=In[(z+1)(2z + 1)(3z + 1)]
35. y=1In [(1 +z)*(2+x)*(3 + a:)"]
36. y = In[e**(z® + 1)(z* + 5z)]

=
3. y=1In {\/E (z Llf(lz + 2)3]
39. y=1In [(Sw + 15%::5;)(1;1 :1:):(
0. y= [Tm]

41. y = In(3z + 1) In(5z + 1) 42. y = (Indz)(In2z)

Use logarithmic differentiation to di_ﬂremntz'aie the following
functions.
43. f(z) = (z + 1)*(4z — 1)? 44. f(x) = %(3z — 4)®
(z+1)}(2z +1)(3z + 1)

vir+1

(z - 2)°(z - 3)*
48. f(zr)=10" 49. f(z) =z  50. f(z)==z/*

8. f(@) =

46. f(z) = 41, f(z) =2
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Answers: Supplement #5 (continued)
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Answers: Supplement #5 (continued)
5 3

1} Insx 3. Ina 5. ln A ’r’ X% 9. !n[r’ . infx3) -

13} 1n (25) £\n(27)
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Answers: Supplement #5 (continued)
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